
���������������������������������������������
�������������������������������������
��
	���������������������������������������������

����������
������
����� �����
��
­����������������
��������
�����������������
��������

�������������
�����
�������������������

�	��­���	�	���� �����������������
������������
���������������������������������������������

�	��­���	�	����
����­��� ����������������� �������

���������������������������

����������������������������������������
�������


�����������������
������	��	�����������	�������������������������������������������������������������	����	��
�����	���������
����������������������������������������


��������������	������������������	�������������������	���������������������������������������	��������������������
����������


�����������������	�������������	��	���������������������������������������������������������������	����
��������		�����������	��������������
���	������������

��������
����������
����

��������
�������
������

�­������������� ������
����������������
���������������������
��	�������������
���������������

2mm Drill bit

x2  ������­���������������­����������
�������­��������������­�������	����


�����������������������
���	�����������������

��������������������������
��­�������������������	����
����������������������	����
����������	�����������

�������
�������������������������������������
������	����������	���������������������
������	�����������������������������	����������
�������������������������������������������������
�����������������������������������������
�������

��������������������������
����������������������������
	��	����������������
	����������

�����������­������ ��­���������­��������­�������  ��

����	��������	��������������������������������������������������������������������������

� �������������������������������������������������������������������������������������
��������������������������������
������

������������������������������	��������	����������������������������

�����������������������������������������������	����������������������������������������

 ��������������������������� ����

���������������������������������������������������������������������������������������		�����������������	���
�����������������������������������������������������������

 ����������������������������������	��������������������������������������������������������������������	�������
�����������������������

������

�������������������������������������	���������	���������������������������	����������������������������������������
�����������������������������������������������������������		���� �����������������������������		������������	�������
���������������������������������������������������������������������	������	���������������������	��������������������
��������������������������������������������������������������������������������������������������������������������
��	�����������������������������������

��	����������������������������������������������������������������������������������������������������������������������
����������������������������������������������������������������������������������������������������
���������������

����������������������
������������������������������������������	��������������������	���������������������������������
���������������������
���������������������������
��������������������������������������������������������
����������������������������������
�
�����������������������������������������������������������������������������

��� ���������­�
 ������������������������������������������������������������������������	������	�����
���������������������������		������������������������������	����������������������������

��������������������������������������������������������������������������������������������������������������������������
��������������������������������������������������������������������������������������������	���������������������������
������	�����������������������������������������	����������������������������������������������������������������������
������������������������

����­������­�

����	����������������������������������
	����

����������������������������������

� �����������

��������������
����������������
��������
���������������������
��
��������������
��������������������
���������
�����
��
����
�����������
������¡���������������������������������������������������������������������������������������
���
����

����­������������

��������
���������������

� ��­��­��������




�	��­���	�	���� �����������������
������������
���������������������������������������������

������ �­�

������������������	���������������������������������������������������������

�������������������������������������������������������

���	���������������������������	�������������������������	��	������	���������������

���	����������������������������������

���	������������������������	�������������������
���������������������������
�����
	�����������������������������������
��
������������������������������������������	���

�����������������	��������������������������������	��������������������	��

�����������������	����������������������


������������������������������������������������������������������������
����������������������������
��������
��������
�������������������������
����������

����������������������������������������������������	����

�������������������������������������������������������������������

����������������������������������������������������������������������������������
�����

���������� �­�

������
�����������	���������
�����
�������������
�����������������������������
������������
��������
������������
�������������
��������������������������
����������
������

����	��������� ������������

 ���������������������

�����������������������������������
��������
��������
��������

������� ������������������������
��������������������	�
��������������������������

�������­����­¢�
����
���������
������������

�������������
�����
�������������������

�����������­������

�����������������������������������������������������
�����������������	����	���������������������������	����
��������������


������������������	�����������������������������������	��
������������������������������������	������

�������

���������������	�������������	���	����������	�����

���� ����������������������

����������������������	��	�����

����������������������������������������������������¡���
������������������
��������������������������	��
��������

����­



�������������
�����
�������������������

�����������������
������������
���������������������������������������������

Before assembly  
please make sure you have a 

suitable base ready to erect your 
building 

 

MADE IN GREAT BRITAIN

Overall Dimensions:
Width = 2056mm 
Depth = 2458mm 
Height = 2054mm

Base Dimensions: 
Width = 1888mm 
Depth = 2386mm 

Large Mesh Panel QTY 2
AI-10S11MESDP1193X1560-V1

Gable Top QTY 1
AI-S11SHASDGT1808X402-V1

Finial QTY 2
Shed Diamond

L Bracket QTY 4
PI-07-0012

Turn Button QTY 6
PI-07-0034

Pad Bolt QTY 1
PI-07-0035

Ply Triangle QTY 2

Roof Panel QTY 4
AI-S11MBAR1205X1075-V1

6”  T-Hinge QTY 7
PI-07-0082

Door Panel QTY 1
AI-10S11SHAGSD1808X1959-V1

Side Panel QTY 2
AI-S11SHPP1193X1571-V1

Plain Panel QTY 1
AI-10S11SHAGP1808X1972-V1

Mesh Door QTY 1
AI-10S11MESLFD538X1639-V1

Small Mesh Panel QTY 2
AI-10S11MESSP630X1560-V1

Door A QTY 1
AI-S11FMBMZBD542X965-V1

Door B QTY 1 
AI-S11FMBMZBD542X695-V1

Fascias  - 12x60x1100mm QTY 4
S1260-1100mm

25

9 10 11

21

27

23

24

22

1

5 6 7 8

2 3 4

Ridge Bar  - 27x44x1153mm QTY 1 
F2744-1153mm

12

Bearer  - 27x44x1119mm  QTY 2
F2744-1119mm

13

Bearer  - 27x44x1860mm  QTY 3
F2744-1860mm

14

29

Support Framing  - 28x28x949mm QTY 2
FS2828-949mm

19

20 28

Ridge Bar  - 27x44x1137mm  QTY 1
F2744-1137mm

15

16

Cover Trim  - 12x40x1582mm QTY 4 
S1240-1582mm

17

Bearer  - 27x44x1135mm QTY 2
F2744-1135mm

18

8x6 Building Contents:
10DTSHAX0806-V1  

Felt

Capping Felt

Floor  QTY 3
AI-S21MBF599X1122-V1

Door Strip  - 12x27x1615mm QTY 1
S1227-1615mm

U Shaped Channel QTY 2
PI-07-0013 

26



�������������
�����
������������������£

�����������������
������������
���������������������������������������������

Roof Panel QTY 2
AI-S11MBAR630X1075-V1

Bearer  - 27x44x630mm QTY 3
F2744-630mm 

U Shaped Channel  QTY 3
PI-07-0013 

40mm screws x 62

50mm screws x 76

70mm screws x 32

30mm screws x 141

31

32

30

36

Truss support  - 27x44x958mm QTY 2
F2744-G-978mm (958mm �nished length, 1 x angled cut)

33

Truss Block  - 27x44x140mm QTY 2
F2744-G-160mm (140mm �nished length, 1 x angled cut)

34

Truss Brace - 27x44x450mm QTY 1
F2744-G-450mm (450mm �nished length, 2 x angled cuts)

35

Nail Bags 
There may be extra screws present in the nail bag 

30mm Black Screw x 6

Felt Tacks x 1502x6 Pack B Contents:
10DTSHAX0206PB-V1  

Small Mesh Panel QTY 2
AI-10S11MESSP630X1560-V1

*If you have purchased a 2ft extension pack B, please follow steps for 
‘Extension Pack B’ where relevant.*

Overall Dimensions:
Width = 2056mm 
Depth = 2458mm 
Height = 2054mm

Base Dimensions: 
Width = 1888mm 
Depth = 2386mm 

10x6 Building.
10DTSHAX0806-V1 + 10DTSHAX0206PB-V1  

Pre Assembly
Before assembling, remove the transportation 
blocks from the bottom of each panel.

Take care removing the blocks as to not damage 
the panels. Tap with a �at headed screwdriver 
and hammer.

Dispose of the blocks once removed.



�������������
�����
�������������������

�����������������
������������
���������������������������������������������

Step 1
Parts Needed - No. 13 QTY 2
                                 No. 14 QTY 2

Position the bearers  (No. 13 & 14) on your 
base as shown, ensure bearers No.13 sits 
inside bearers No.14.

Fix the framing together with 2x70mm 
screws per corner.

Ensure to construct your bearers on a �rm 
and level base, that has suitable drainage 
free from areas where standing water can 
collect. (See front page on base require-
ments).  

8x70mm screws. 

Pre drill 
hole

70mm 
screw

13
14

IMPORTANT: Pre-drill before �xing screws. 

13
14

IMPORTANT: Pre-drill before �xing screws. 

2

3

Step 2
Parts Needed - No. 3 QTY 1
                                 No. 2 QTY 1
 
Place the Side Panel (No. 2) and the Plain 
Panel (No. 3) onto the bearers and �x 
together at the corner with 3x50mm 
screws. 

**Do NOT �x to the bearers until the Roof 
is secured**

3x50mm screws. 

Pre drill 
hole

50mm 
screw

IMPORTANT: Pre-drill before �xing screws. 

2

Step 3
Parts Needed - No. 2 QTY 1

Place the second Side Panel (No. 2)  onto 
the bearers and �x to the Plain Gable with 
3x50mm screws. 

**Do NOT �x to the bearers until the 
Roof is secured**

3x50mm screws. 

Pre drill 
hole

50mm 
screw

a

a

a

a

1

Pre drill 
hole

50mm 
screw

Step 4
Parts Needed - No. 1 QTY 1
 
Place the Door Panel  (No. 1) onto the 
bearers. Fix the Door Panel  (No. 1) to the 
side panels with 3x50mm screws per side.  

**Do NOT �x to the bearers until the 
Roof is secured**

6x50mm screws. 

IMPORTANT: Pre-drill before �xing screws. 

a

a

a

a

a

a

a



�������������
�����
�������������������

�����������������
������������
���������������������������������������������

IMPORTANT: Pre-drill before �xing screws. 

15

15

14

Step 5
Parts Needed - No. 14 QTY 1
                                 No. 15 QTY 2

Place the remaining bearers  (No.14 & 15) 
into position as shown and secure to each 
with 2x70mm  screws per corner. 

*The Run bearers do not �x to the Kennel 
area*

4x70mm screws. 

Pre drill 
hole

70mm 
screw

Step 5a - EXTENSION  PACK B
Parts Needed - No. 14 QTY 1
                                 No. 15 QTY 2
                                 No. 33 QTY 2

Place the remaining bearers  (No.14 & 15 
& 33) into position as shown and secure to 
each with 2x70mm  screws per corner. 

Secure the adjacent bearers together 
using 2x70mm screws per join. Screw at 
an angle through to the next bearer. 

*The Run bearers do not �x to the Kennel 
area*

8x70mm screws. 

IMPORTANT: Pre-drill before �xing screws. 

Pre drill 
hole

70mm 
screw

15

15

33

33

14

Step 5b - EXTENSION  PACK B
Parts Needed - No. 30 QTY 2

Locate the Small Mesh Panels (No. 30)  on 
top of the front bearers. 

Fix to the adjacent panel using 3x50mm 
screws per panel. 

**Do NOT �x to the bearers until the 
Roof is secured**

6x50mm screws. 

IMPORTANT: Pre-drill before �xing screws. 

Pre drill 
hole

50mm 
screw

30

30

a

a

a

a

a

a

a



�������������
�����
������������������¡

�����������������
������������
���������������������������������������������

4

Step 6
Parts Needed - No. 4 QTY 2
 
Locate both Large Mesh Panel (No. 4)  onto 
the front bearers as shown. 

Fix the panels into the adjacent panels with 
3x50mm screws per panel.

**Do NOT �x to the bearers until the Roof 
is secured**

6x50mm screws. 

Pre drill 
hole

50mm 
screw

IMPORTANT: Pre-drill before �xing screws. 

4

a a

a

a

a

a

a

10X6 EXTENSION PACK B

4

4

a

a

a

a

a

a

IMPORTANT: Pre-drill before �xing screws. 

6

6

Step 7
Parts Needed - No. 6 QTY 2
 
Locate both Small Mesh Panels  (No. 6) 
onto the front bearers as shown.  

Fix to the Large Mesh Panels with 3x50mm 
screws per panel, making sure you screw 
from the inside.

**Do NOT �x to the bearers until the 
Roof is secured**

6x50mm screws. 

Pre drill 
hole

50mm 
screw

a

a

a

a

a

a

a

10X6 EXTENSION PACK B

6

6

a

a

a

a

a

a



�������������
�����
�������������������

�����������������
������������
���������������������������������������������

Step 8
Parts Needed - No. 10 QTY 1
 
Locate the Gable Top (No. 10)  on top 
of the two Small Mesh Panels (No. 6), 
as shown.

Secure in place using 4x50mm 
screws per panel. 

4x50mm screws

Pre drill 
hole

50mm 
screw

IMPORTANT: Pre-drill before �xing screws. 

10X6 EXTENSION PACK B

10

10

Step 9
Parts Needed - No. 24 QTY 2
 
Locate the Ply Triangles (No. 24) 
to the top and bottom of the 
door way, as shown.

Fix in place using 2x40mm 
screws per triangle.

4x40mm screws 

Pre drill 
hole

40mm 
screw

24

IMPORTANT: Pre-drill before �xing screws. 

10X6 EXTENSION PACK B 24

24



�������������
�����
������������������¤

�����������������
������������
���������������������������������������������

17

16

Step 10
Parts Needed - No. 16 QTY 1
                                 No. 17 QTY 1
                                 No. 22 QTY 4

Inside the Kennel part of the building, 
locate the Ridge Bar (No.17) in between 
the Plain Panel and the Door Panel, in line 
with the central framing of the gables. 

Fix the Ridge Bar (No.17) in place using 
one L-bracket (No.22) per end. Secure 
with 4x30mm screws per bracket. 

In the Run part of the building, locate the 
Ridge Bar (No.16) in between the Door 
Panel and the Gable Top, in line with the 
central framing of the gables. 

Fix the Ridge Bar (No.16) in place using 
one L-bracket (No.22) per end. Secure 
with 4x30mm screws per bracket. 

16x30mm screws

IMPORTANT: Pre-drill before �xing screws. 

22

22
22

22

Pre drill 
hole

30mm 
screw

22

2222

Step 10a - EXTENSION PACK B
Parts Needed - No. 16 QTY 1
                                 No. 17 QTY 1
                                 No. 22 QTY 4
                                 No. 32 QTY 1
                                 No. 33 QTY 4

Inside the Kennel part of the building, 
locate the Ridge Bar (No.17) in between 
the Plain Panel and the Door Panel, in line 
with the central framing of the gables. 

Fix the Ridge Bar (No.17) in place using 
one L-bracket (No.22) per end. Secure 
with 4x30mm screws per bracket. 

Secure the Ridge Bars (No.16 & 33) 
together using the U-channel (No.32) 
with 6x30mm screws. Ensure the framing 
is �ush and level. 

In the Run part of the building, locate the 
assembled Ridge Bar (No.16 & 33) in 
between the Door Panel and the Gable 
Top, in line with the central framing of the 
gables. 

Fix the assembled Ridge Bar in place using 
one L-bracket (No.22) per end. Secure 
with 4x30mm screws per bracket. 

22x30mm screws

IMPORTANT: Pre-drill before �xing screws. 

Pre drill 
hole

30mm 
screw

17

16

22

22
22

22

33

32

32

22

2222



�������������
�����
�������������������	

�����������������
������������
���������������������������������������������

Step 11
Parts Needed - No. 19 QTY 2

Locate the Support Framing (No.19) �ush 
with the front of the Gable Top (No.10) 

Secure in place with 3x50mm screws per 
frame, screwing through the framing into 
the Gable behind.  

6x50mm screws

IMPORTANT: Pre-drill before �xing screws. 

Pre drill 
hole

50mm 
screw

19

19

10X6 EXTENSION PACK B

19

19

Step 12
Parts Needed - No. 11 QTY 4
                                 No. 26 QTY 2

Pre drill 
hole

30mm 
screw

IMPORTANT: Pre-drill before �xing screws. 

a Place the Roof Panels (No.11) on top of 
the building, making sure the framing 
in the roof panels sits �rmly within the 
Gables and on top of the ridge bar. 

**Make sure that you have got the 
Roof Panels the correct was around, 
with the recess at the top of the apex, 
as shown in the diagram. 

Ensure the edges of the Roof Panels are 
�ush with the outer cladding of the 
Plain Gable and the Gable Top.

Once the Roofs have been located on 
the building, Locate a U-channel 
(No.26) across the join between the 
two adjacent Roof Panels framing, as 
shown. 

Ensure the U-channel is spaced over 
both Roofs framing equally, and secure 
in place using 6x30mm screws per 
channel. 

Repeat this for both Roofs.  

From the top, �x directly through the 
roof panels (No.11) and into the Ridge 
Bars below using 12x50mm screws.

It is essential that the Ridge Bars and 
Roof Panel framing pull together when 
�xed. You may require another person 
pushing the Ridge Bars up from below 
to achieve this.

**Note: Be cautious of the roof panels 
before they are secured to the 
building. They may need added 
support until �xed. 

12x30mm screws. 
12x50mm screws. 

c

b

50mm 
screw

11

11
11

11

26

b

c

a

26

11 11b



�������������
�����
��������������������

�����������������
������������
���������������������������������������������

Step 12a  - EXTENSION PACK B
Parts Needed - No. 11 QTY 4
                                 No. 26 QTY 2
                                 No. 31 QTY 2
                                 No. 32 QTY 2

Pre drill 
hole

30mm 
screw

IMPORTANT: Pre-drill before �xing screws. 

a Place the Roof Panels (No.11 & 31) on 
top of the building, making sure the 
framing in the roof panels sits �rmly 
within the Gables and on top of the 
ridge bar. 

**Make sure that you have got the 
Roof Panels the correct was around, 
with the recess at the top of the apex, 
as shown in the diagram. 

Ensure the edges of the Roof Panels are 
�ush with the outer cladding of the 
Plain Gable and the Gable Top.

Once the Roofs have been located on 
the building, locate a U-channel (No.26 
& 32) across the joins between the 
adjacent Roof Panels framing, as 
shown. 

Ensure the U-channels are spaced over 
the Roofs framing equally, and secure 
in place using 6x30mm screws per 
channel. 

Repeat this for all Roofs.  

From the top, �x directly through the 
roof panels (No.11 & 31) and into the 
Ridge Bars below using 16x50mm 
screws.

It is essential that the Ridge Bars and 
Roof Panel framing pull together when 
�xed. You may require another person 
pushing the Ridge Bars up from below 
to achieve this.

**Note: Be cautious of the roof panels 
before they are secured to the 
building. They may need added 
support until �xed. 

24x30mm screws. 
16x50mm screws. 

c

b

50mm 
screw

11

11

11

11

26

b

ca

31

31

26

11 11
b

31

32

Step 12b - EXTENSION PACK B
Parts Needed - No. 34 QTY 2

Position a Truss Support (No.34), centrally 
underneath the join of the two roofs in the 
run area internally. Ensure the Truss Sup-
port sits �ush to the underside of the Roof 
Panels and �ush at the top, as shown.   

Fix the Truss Support (No.34) in place 
using 5x30mm screws, �xing through the 
roof panels into the truss’ from the outside 
of the building. Alternate �xing the screws 
through each roof panel, as shown.

12x30mm screws

IMPORTANT: Pre-drill before �xing screws. 

Pre drill 
hole

30mm 
screw

34 34

34

34



�����������������
������������
���������������������������������������������

�������������
�����
��������������������

Step 12c - EXTENSION PACK B
Parts Needed - No. 35 QTY 2

Position a Truss Block (No.35), up to the 
underside of the Truss Support, so that the 
angled edge is facing upwards, �ush to 
the Truss Support,. 

Fix in place with 2x50mm screws, through 
the block into the panel framing. 

Repeat for the opposite of the building. 

4x50mm screws

IMPORTANT: Pre-drill before �xing screws. 

Pre drill 
hole

50mm 
screw

35

35

35

Step 12d - EXTENSION PACK B
Parts Needed - No. 36 QTY 1

Position the Truss Brace, (No.36), under-
neath the two Truss Supports,  ensuring 
they sit �ush to one another. The Truss 
brace should sit horizontally - parallel to 
the �oor. 

Fix in place using 2x40mm screws per end. 

4x40mm screws

IMPORTANT: Pre-drill before �xing screws. 

Pre drill 
hole

40mm 
screw

36

36

Step 13

Fix the Roof Panels in place using 
32x40mm screws. Ensure to go through 
the Roof Panels and into the framing 
below. 

32x40mm screws

IMPORTANT: Pre-drill before �xing screws. 

Pre drill 
hole

40mm 
screw

10X6 EXTENSION PACK B

38x40mm screws



�����������������
������������
���������������������������������������������

�������������
�����
��������������������

c

Step 14

Once the Roof is secure, �x the panels to 
the bearers. 

For the inside of the kennel area, use 
4x50mm screws per side. 

For the Run area, use 4x70mm screws per 
side. 

16x50mm screws
12x70mm screws

IMPORTANT: Pre-drill before �xing screws. 

Pre drill 
hole

50mm 
screw

70mm 
screw

b
b

b
b

b
cc

c
c c

c

c
c

10X6 EXTENSION PACK B

16x50mm screws
16x70mm screws

b
b

b

c
c c

c

c
c

b
c

c

c
c

Pre drill 
hole

30mm 
screw

Step 15
Parts Needed - No. 7    QTY 1
                               - No. 8    QTY 1
                               - No. 21 QTY 4
                               - No. 23 QTY 4

Fix the 4 x T Hinges (No.21) onto the 
doors (No. 7 & 8) and door frame as 
shown with 7x30mm screws.

Ensure that there is equal space 
around each side of the Doors and a 
space between the Doors so they 
can open freely of each other. 

Fix the turn button (No.23) to the 
top and bottom of each door using 
1x30mm black screw per turn 
button.

Note: If you have a large dog then 
you may be more inclined to �t the 
larger door at the bottom. 

*8x6 building shown for illustrative 
purposes, the process is the same 
for the extension pack* 

28x30mm screws.
4x30mm Black screws 

21

7

8
23

*Note: Hinges to go on the side with 
the shortest gap.

30mm 
screw

IMPORTANT: Pre-drill before �xing screws. 



�����������������
������������
���������������������������������������������

�������������
�����
�������������������£

Pre drill 
hole

30mm 
screw

Step 16
Parts Needed - No. 20 QTY 1

Locate the Door Strip (No.20) to the 
inside of the Door Panel on the 
opposite side to the hinges. 

Fix in place using 4x30mm screws. 

4x30mm screws.

IMPORTANT: Pre-drill before �xing screws. 

20

Pre drill 
hole

30mm 
screw

Step 17
Parts Needed - No. 18 QTY 4

Locate the Cover Trims (No.18) to 
each corner of the building where 
the panels join. 

Fix in place using 4x30mm screws 
per trim. 

*8x6 building shown for illustrative 
purposes, the process is the same 
for the extension pack* 

16x30mm screws.

IMPORTANT: Pre-drill before �xing screws. 

18
18

18

18

100mm

100mm

 29

 28

Step 18
Parts Needed - No. 28 QTY 1
                               - No. 29 QTY 1

Cut the Felt (No.28) into two strips 
measuring:
8x6 = 2510mm (L) X 1000mm (W)
10x6 =3140mm (L) x 1000mm (W)

Cut the Capping Felt (No.29) into one 
strip measuring:
8x6 = 2510mm (L) X 300mm (W)
10x6 = 3140mm (L) x 300mm (W)

Lay the felt onto the building as shown  
in the illustration.  Ensure to overlap 
each sheet by 100mm and that there is 
50mm of overhang around the building. 

Fix the felt in place using felt tacks at 
100mm intervals.

100 x Felt Tacks

Felt 
tacks 

 29

 28

HANDLE
WITH CARE

1 2

3

4

10X6 EXTENSION PACK B

150 x Felt Tacks

 29

 28

 28



�����������������
������������
���������������������������������������������

�������������
�����
��������������������

Pre drill 
hole

30mm 
screw

Step 19
Parts Needed - No. 5    QTY 1
                               - No. 21 QTY 3
                               - No. 23 QTY 2
                               - No. 25 QTY 1

Locate the Mesh Door (No.5) into 
the front door way. Fix 3 x T-Hinges 
(No.21) onto the door and door 
frame using 7x30mm screws per 
hinge. 

Locate one Turn Button (No.23) to 
the top and bottom of the door. Fix 
in place using 1x30mm black screw 
per turn button.  

Locate the Pad Bolt (No.25) to the 
horizontal brace on the front of the 
Mesh Door. Fix in place using 
6x30mm screws. Fix the Pad Bolt 
Retainer to the Panel framing using 
4x30mm screws. 

*8x6 building shown for illustrative 
purposes, the process is the same 
for the extension pack* 

31x30mm screws.
2x30mm black screws.

IMPORTANT: Pre-drill before �xing screws. 

30mm 
screw

 21

 21

 21

 25

 5

 23

21

Pre drill 
hole

40mm 
screw

Step 20
Parts Needed - No. 12 QTY 4
                               - No. 27 QTY 2

Attach the Fascias  (No. 12) to the front 
and back of the building using 4x40mm 
screws per fascia.

Once in place, cut o� the excess material 
of the fascia with a hand saw.

Locate the Finials (No. 27) onto the Fascias 
and �x in place using 2x30mm screws per 
Finial. 

*8x6 building shown for illustrative 
purposes, the process is the same for the 
extension pack* 

4x30mm screws
16x40mm screws. 

*trim to �t

IMPORTANT: Pre-drill before �xing screws. 

 12

 12

 12

 12

 27

 27

Step 21
Parts Needed - No. 9 QTY 3

Slot the Floor Panels (No. 9) into the 
kennel area, ensuring they rest on the 
bearers, are �ush and aligned. 

These Panels are removable so do not �x 
in place. 

9

IMPORTANT: Pre-drill before �xing screws. 



�����������������
������������
���������������������������������������������

�������������
�����
��������������������

It is ESSENTIAL that you apply wood 
treatment immediately after the building 

has been assembled.



����������������������������������������������������������������������������	������
�������������������������������������������	�����¡��������	�����������������	���������	�����
��������������������

 �������������������������������������	������������������������������

��������������������������������������������������	��������	�����������������
���������������������������
	����

������������������������������������������������������¡������������������������
��������������������������������������

������������	�������������	������������	������������������������
�������������������
��������������������¡���������������������������	�����������������������������������
���������������������������������������������������������

������������������������������������������������¡������������������������

��������������������	������������������������������������������������������������������
���������������������������������������������������������������������������������������

�����������������������������¡������������	�����������������������������������������
�������������������������	����������	����������������������������������������������������
�������������������������	�������
������������	���������������������������
�����������
���������������������������������������������������������������������������������������
¢�������������������������������������������������������

�����������������������������	���������������������������	��������������������������
�������	�����������������������	�������	������������������������������������	�����

�������������������������������������������������������	������������	�������������
��������	��	��������	��������������	����������

������������������������ ����

�������������������������¡���������������������
��������������	�������������������	��������������������������������������������	������������������������������������	������������������������
	����������������	���������������	����	��������������������������������	�����������������������������	���������������������������������¡���	��	�������������������¡����������������������
	������������������	����	��������������������������������������������������������������������������������������	�������������������������������	��������������������������������������������
	�����¢������������������	����������������������������

����������
�����
�����
������������������������������������������	��������������������	������������������������������������������������������
���������������
�����
�����
��������������������������������������������������������
 ������������������
����
���������
�
�����������������������������������������������������������������������������

�������������������������������� ���� �����������������
������������
���������������������������������������������

�������­����­¢�
����
���������
������������

��� ����������������

��������� �
�������­­��� �

� ��­��­������������
­������������������


�������������
�����
�������������������¡



����������������������� �����������������
������������
���������������������������������������������

�

�����������������������������

��������	����������������������������	��	����������������	������	����������������������������
�����	�����������������������������������������������������������������


����	��������������������	���������������������������������������������


����	����������������������������������������������������������������������������������


����	���������


������	������	���������������		�����	�����������������	�������������	�������


����	������	�����������������������������	�����


�����������������	�����£�	��	������������������	����������������

������­�������­����������������������������������������� �������������¥���

���������

���	������������������������������������	�����������������������������������������������
�������	����	�����������������������������������������	������	��������������������������
��������������	����	������������������������������������������������������������	��

������

�����	����������������������������������������	����������������������	��	���������������

���������������������������		�����	�����	�����������������
�������������	��������������
	�����������������	��	��������������

����

���	������������������������������������������������������������������������������������	��
��������������������������������	����	����

�����������
���

��������������	�����	�����	���	�����������������������������	�������	��������	�������
��������������¢�������������������������������	���������������������������������������
��������������������

���

�������	������¤���������������������������	������������������������	������������

­�������������

�����������������	��	�������	�������������������������������������������������������������
	���������	���	������������������	�����������������������������������������������
������������	����������������������������������������	�����	������������������������
�������������������������������

����


����������	������������������������������������������������������������������	��������
������������������������������������		������������������������

������


����������������	�������������������������������������	���������������	��	���	���������
��������������������������������������	��������������������������������������	�����������
�����������������������������������������������������������������������	��������	������
������������������������������

����������
�

��������������	��	�����	�����������������������������������������	���������������������������
	������������������������������������������	�����������	�������������������������������

���������	�����������������������������������		�����	�������	�������������������������
�����	���������������������������	����������������������������������������	�����������������
���������������������

1

2

3

4

5

6

7

8

9

�������������
�����
��������������������



������
����������������������������������¦����
�����������������


­�����������
���������
������������������������	������	��������������������
���������������������������������������������������������	���������������������
	������������������������������������������������������������������������
	��������������	���������������������	����������������������������������������
	�����	������
������	����������������������������������		����
������
��������������������������������������������������������	���������������������
���	����������������������������

����������������������������������������������������������������������
������������������������������������	�������	���������������������������������������
�����������������������	����������������������������������������������������������
��������������������������������������������������������������������������
�������

�������
�����
�����������������������������	�������������	����������	���
���������������	�������������������������������������������������������
����	�������������������������������������������	��������������������������
����������������������������������������������������������������������������������
	�����������������������

��������������������
���������������������	���������������������������
���������������������������������������������������������������������������
	��	������� ���������������������������������������������������������������
�����������������������������	������������������������������������������������������
�������������������������������������������������������	����������������
����
������	����������������������������������������������������	���������
����������	���������������������������������������������

­����������������
�������
�������������	�������������������	��	�����������
	�����������������������������������������������������������������������������
���	����������	��������������������������������������������������������������������
	�������������������������������������������������������

­���
���������������		��������������������������������
����������������������������������������������������
������������������������������������������������������
����������������������������	���������������������������
�������������������	�������������������������������
��	���������������������������������������������������

����������������������������������������	��������
��������������������������������������������������
�������������������������������������	��	������

������������§­���������������­


������������������������������������������������������������������������������������
����������������������������������������������� ����	��������������	��	������
	��	�������������������������������	���������¥���������¡�

�������������������������������������������������������������������������
�������������������	���������������������������������	�������������������������������
������������������������������������������������������

 ���������	������������������������������������������������������������������
������������������������������������������������������

�

�������������������������������
�������
������2


��������������	�������������������������������������������������������������
����������		�����������������	�������������������������������������������������
�������������

 ����������������������������������	������������������������������������������
��������������������������	������������������������������

������������������������������������������������
�������
������1

�¨������������������

��	��������������������������������������������������������������������������������
���������������������������������������������������������������������������������
�����������������������������������������������������������
��������������

����������������������
������������������������������������������	������������������
��	��
����������������������������������������������������
���������������������������
�������������������������������������������������
��������
����������������������������������
�
������������������������������������
�����������������������������������������

 ���������	�������������������	��������������������������������������������
��������������������������������������������������������������������������
���������

�������������	������������������	��	����������������������	������������
�		���������

3

4 ����������������������
����
�����������������

��������
������������������������������������������	��������������������������
�������������������������������������������������������������


��������������������¦

�����	������
��������������	��

��������
��������������

�����������������
������������
���������������������������������������������


�����������������������������������������������������	�����������	��������
�������������������������	������������������������������	����������������������������
����������������������������������������������	���������������������������������������
����������������	��������	��������������������	�����¡����	�������������������������
���������������������	�������������	���������������	�§

�������������
�����
�������������������¤



�����������������������


������	���������������	������������������������������������������������������������
������	�����������	���
�����������������������	���������������������������������������������������	��������
�����

������������������������������������������������������		���

��������������������������	�����������������������������������������
���������������	�������������������������������	����������������������
����
�������������������	����������������������������������
��������������������������������������������	�������������		�����	���������
���������������������	�����¡����	��������������
�������������������������������������������������������������������	�����¡��
��	������������������������������	��������������������������������	�����
���������������������������������	���������������������������������������������
������	������
���������������������������������	��������������������¤��������������������������
	��	���������������������	�������������������������������
�����������������������������������	������������������������������������	��������������
������������������	�����	������	��	������������������������������������������
¨�������������������������������	����	��������������������������������������������������
���������������������������������
�����
���������������¢�����������������������������������������������������	�������
��������������������������
�����
�������������������	��������	��������������������������������������	���������
���������	��
��������������

������������§����������1 2 ������������������

���	���������������	����������������������
������������������������������������
�����������������������������������������������������������������	�������������������
	����������������������������������	�����������������������	������	����
�����������������������������������������������������������������������������
������	�����¡����	��������������������������������������������������������������
�����������������������
������������������������	���������������������������������������������������	���
����������

�������������������������������������������������������		���

�������������������������	�����������������������������������������
���������������	�������������������������������	����������������������
����
�������������	����������������������������������
���������������������������������������������	�������������		�����	���������
���������������������	�����¡����	��������������
�������������������������������������������������������������������	�����¡��
��	������������������������������	��������������������������������	�����
���������������������������������	���������������������������������������������
������	������
���������������������������������	��������������������¤��������������������������
	��	���������������������	�������������������������������
�����������������������������������	���������������������������	���������������������
�����������	�����	������	��	������������������������������������������
¨�������������������������������	����	�������������������������������������������������
���������������������������������
�����
���������������¢�����������������������������������������������������	�������
��������������������������
�����
�������������������	��������	��������������������������������������	���������
���������	��
��������������

�����������������
������������
���������������������������������������������

�������������
�����
�������������������	

����­������������

��������
���������������

� ��­��­��������



